Customer Service

g'{uur 5“1 le SourCE' “CID\ ¢ Tel: (800) 631-2153

Wh_ ¢ Fax: (888) 645-7278
P.O. Box 846 - Farmlngdale NJ 07727 WWW.crownengineering.com

N
@
(]
=
i @
=)
=]
CAGE / HEX BASE CAGE / SHORT HEX CAGE / SHORT CAGE / ADAPTER RIGHT ANGLE SLOTTED HEX BASE =
BUSS BAR CLIP BASE STUD “A” SPRING SPRING CAGE / CAGE STUD 6-32 THD. 1
52830 52840 52850 52860 52880 52891 m
—
» &
]
-
-
i @
€
=
J—
SMALL THUMB NUT CAGE / LARGE SPRING / LARGE HEX BASE STUD / STUD /ANGLE
10-32 THD. THUMB NUT THUMB NUT CAGE / WEBSTER CLIP SHORT NYLON NYLON CAP

52900 52915 52916 52920 55001 55011

MR ARAR i I

BASE STUD /
SOLDERLESS BRASS| SOLDERLESS RING /| RING / SOLDERLESS | SOLDERLESS SPRING
FERRULE SHORT NYLON CAP BRASS FERRULE / SHORT NYLON CAP SPRING / ANGLE NYLON CAP
55021 55101 55121 55201 55211

Attention OEM’s

We can customize your
terminal requirements
to fit your specific

ANGLE SPRING / application.

SPRING / ' v

]

SOLDERLESS BRASS| SPRING / EXTENDED | SOLDERLESS ANGLE| SOLDERLESS BRASS .
FERRULE NYLON CAP SPRING / SHORT CAP FERRULE Send us your print.
55221 55231 55301 55321

Part Number: TCK - 1
Description: Transformer contact kit

Terminal Packaging Note Packaging: Poly bag & tagged

Includes:
Please note that most of the terminal 2 - 45580 Contact buss bar clips ]
connectors listed on pages 70 through 2- 60010 #10 Split lock washer | ﬂ
71 are packaged in 10 and 50 packs. 2 - 60999 #10 Flat washer G
2 - 60022 10-32 Hex nut o O
To order a 10 pack simply add the
suffix -10 after the 5 digit part number. Can be used in a variety of 0
For a 50 pack add a -50. applications and equipment. 0

: Page 69 -12 =



